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Total Synthesis of (-)-Acetylaranotin 

 

Problem: 

 

 

 

 

 

 Synthesize 2 from 1 in 4 steps, give the mechanism for the step 3 (name reaction) 

(Bachelors and Masters) 

 Give the mechanism for the removal of the allyl group from 2. 

 Which reagent will you use to get 4 from 3? 

 Give a catalyst and the mechanism for the key step (4 to 5). Which name reactions do this 

transformation include (2 name reactions)? 

 How will you make the transformation of 6 to 7 (Rubottom Oxidation)? Give the 

mechanism for this transformation.  

 

 

 

 

 

 

 



Solution: 

 

Synthesis 2 from 1 in 4 steps:
1
 

 

 

 

Mechanism of Swern oxidation 

 

 

 

 

 

Removal of the allyl group:
2
 

 



Reagent to get 4 from 3:  

 

Mechanism for the key step (Aza-Cope rearrangement, Mannich cyclization):
1
 

  

 

R = H, R
2
 = H, R

1
 = CO2Et 

 

Mechanism for the transformation of 6 to 7. Rubottom Oxidation:
3
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